

RELATIONSHIPS BETWEEN GENERALIZED BERNOULLI NUMBERS AND POLYNOMIALS AND GENERALIZED EULER NUMBERS AND POLYNOMIALS

QIU-MING LUO AND FENG QI

ABSTRACT. In this paper, concepts of the generalized Bernoulli and Euler numbers and polynomials are introduced, and some relationships between them are established.

1. INTRODUCTION

It is well-known that the Bernoulli and Euler polynomials are two classes of special functions. They play important roles and have made many unexpected appearances in Numbers Theory, Theory of Functions, Theoretical Physics, and the like. There has been much literature about Bernoulli and Euler polynomials, for some examples, please refer to references in this paper.

The Bernoulli numbers and polynomials and Euler numbers and polynomials are generalized to the generalized Bernoulli numbers and polynomials and to the generalized Euler numbers and polynomials in [2, 3, 4] in recent years.

In this article, we first restate the definitions of the generalized Bernoulli and Euler numbers and polynomials, and then discuss the relationships between the generalized Bernoulli and Euler numbers and polynomials. These results generalize, reinforce, and deepen those in [1, 5, 8, 10, 11].

Date: May 19, 2002.

2000 Mathematics Subject Classification. Primary 11B68, 33E20; Secondary 26A48, 40A30.

Key words and phrases. relationship, Bernoulli number, Bernoulli polynomial, Euler number, Euler polynomial, generalized Bernoulli number, generalized Bernoulli polynomial, generalized Euler number, generalized Euler polynomial.

The authors were supported in part by NNSF (#10001016) of China, SF for the Prominent Youth of Henan Province, SF of Henan Innovation Talents at Universities, NSF of Henan Province (#004051800), Doctor Fund of Jiaozuo Institute of Technology, China.

This paper was typeset using $\mathcal{A}\mathcal{M}\mathcal{S}$ - $\mathcal{L}\mathcal{A}\mathcal{T}\mathcal{E}\mathcal{X}$.

2. DEFINITIONS OF BERNOULLI AND EULER NUMBERS AND POLYNOMIALS

In this section, we will restate definitions of (generalized) Bernoulli numbers, (generalized) Bernoulli polynomials, (generalized) Euler numbers, and (generalized) Euler polynomials as follows. For more details, please see [1, 2, 3, 4, 10].

Definition 2.1 ([1, 10]). The Bernoulli numbers B_k and Euler numbers E_k are defined respectively by

$$\frac{t}{e^t - 1} = \sum_{k=0}^{\infty} \frac{t^k}{k!} B_k, \quad |t| < 2\pi; \quad (2.1)$$

$$\frac{2e^t}{e^{2t} + 1} = \sum_{k=0}^{\infty} \frac{t^k}{k!} E_k, \quad |t| \leq \pi. \quad (2.2)$$

Definition 2.2. [1, 10] The Bernoulli polynomials $B_k(x)$ and Euler polynomials $E_k(x)$ are defined respectively by

$$\frac{te^{xt}}{e^t - 1} = \sum_{k=0}^{\infty} \frac{t^k}{k!} B_k(x), \quad |t| < 2\pi, \quad x \in \mathbb{R}; \quad (2.3)$$

$$\frac{2e^{xt}}{e^t + 1} = \sum_{k=0}^{\infty} \frac{t^k}{k!} E_k(x), \quad |t| \leq \pi, \quad x \in \mathbb{R}. \quad (2.4)$$

Note that $B_k = B_k(0)$, $E_k = 2^k E_k(\frac{1}{2})$.

Definition 2.3 ([2, 4]). Let a, b, c be positive numbers, the generalized Bernoulli numbers $B_k(a, b)$ and the generalized Euler numbers $E_k(a, b, c)$ are defined by

$$\frac{t}{b^t - a^t} = \sum_{k=0}^{\infty} \frac{t^k}{k!} B_k(a, b), \quad |t| < \frac{2\pi}{\ln b - \ln a}; \quad (2.5)$$

$$\frac{2c^t}{b^{2t} + a^{2t}} = \sum_{k=0}^{\infty} \frac{t^k}{k!} E_k(a, b, c). \quad (2.6)$$

It is easy to see that $B_k = B_k(1, e)$, $E_k = E_k(1, e, e)$.

Definition 2.4 ([2, 4]). The generalized Bernoulli polynomials $B_k(x; a, b, c)$ and the generalized Euler polynomials $E_k(x; a, b, c)$ are defined by

$$\frac{tc^{xt}}{b^t - a^t} = \sum_{k=0}^{\infty} \frac{t^k}{k!} B_k(x; a, b, c), \quad |t| < \frac{2\pi}{|\ln b - \ln a|}, \quad x \in \mathbb{R}; \quad (2.7)$$

$$\frac{2c^{xt}}{b^t + a^t} = \sum_{k=0}^{\infty} \frac{t^k}{k!} E_k(x; a, b, c), \quad x \in \mathbb{R}. \quad (2.8)$$

It is not difficult to see that $B_k(x) = B_k(x; 1, e, e)$, $E_k(x) = E_k(x; 1, e, e)$, $B_k(a, b) = B_k(0; a, b, c)$, and $E_k(a, b, c) = 2^k E_k(\frac{1}{2}; a, b, c)$, where $x \in \mathbb{R}$.

3. RELATIONSHIPS BETWEEN GENERALIZED BERNOULLI AND EULER NUMBERS

In this section, we will discuss some relationships between the generalized Bernoulli numbers and the generalized Euler numbers.

Theorem 3.1. *Let $k \in \mathbb{N}$ and $r \in \mathbb{R}$, then we have*

$$\begin{aligned} k \sum_{j=0}^{k-1} \binom{k-1}{j} (r-1)^{k-j-1} (\ln c)^{k-j-1} E_j(a, b, c) \\ = \sum_{j=0}^k \binom{k}{j} 2^{2j-1} \left[(2 \ln b + r \ln c)^{k-j} - (2 \ln a + r \ln c)^{k-j} \right] B_j(a, b), \end{aligned} \quad (3.1)$$

where a, b, c are positive numbers.

Proof. From (2.5), Cauchy multiplication, and the power series identity theorem, we have

$$\begin{aligned} \frac{2tc^{rt}}{b^{2t} + a^{2t}} &= \frac{2t}{b^{4t} - a^{4t}} \left[(b^2 c^r)^t - (a^2 c^r)^t \right] \\ &= \left[\sum_{k=0}^{\infty} 2^{2k-1} B_k(a, b) \frac{t^k}{k!} \right] \left[\sum_{k=0}^{\infty} \left[(\ln(b^2 c^r))^k - (\ln(a^2 c^r))^k \right] \frac{t^k}{k!} \right] \\ &= \sum_{k=0}^{\infty} \left[\sum_{j=0}^k \binom{k}{j} 2^{2j-1} \left[(2 \ln b + r \ln c)^{k-j} - (2 \ln a + r \ln c)^{k-j} \right] B_j(a, b) \right] \frac{t^k}{k!}. \end{aligned} \quad (3.2)$$

From (2.6), Cauchy multiplication, and the power series identity theorem, we have

$$\begin{aligned} \frac{2tc^{rt}}{b^{2t} + a^{2t}} &= \frac{2tc^t}{b^{2t} + a^{2t}} \cdot c^{(r-1)t} \\ &= \left[\sum_{k=0}^{\infty} E_k(a, b, c) \frac{t^{k+1}}{k!} \right] \left[\sum_{k=0}^{\infty} \left[(r-1)^k (\ln c)^k \right] \frac{t^k}{k!} \right] \\ &= \sum_{k=0}^{\infty} \left[k \sum_{j=0}^k \binom{k-1}{j} (r-1)^{k-j-1} (\ln c)^{k-j-1} E_j(a, b, c) \right] \frac{t^k}{k!}. \end{aligned} \quad (3.3)$$

Equating coefficients of the terms $\frac{t^k}{k!}$ in (3.2) and (3.3) leads to (3.1). \square

Taking $r = 1$ in (3.1) and defining $0^0 = 1$, we have

Corollary 3.1.1. *For nonnegative integer k and positive numbers a, b, c , we have*

$$\begin{aligned} k E_{k-1}(a, b, c) \\ = \sum_{j=0}^k \binom{k}{j} 2^{2j-1} \left[(2 \ln b + \ln c)^{k-j} - (2 \ln a + \ln c)^{k-j} \right] B_j(a, b). \end{aligned} \quad (3.4)$$

Furthermore, Setting $a = 1$ and $b = c = e$ in (3.4), we hve

Corollary 3.1.2. *For nonnegative integer k , we have*

$$kE_{k-1} = \sum_{j=0}^k \binom{k}{j} 2^{2j-1} (3^{k-j} - 1) B_j. \quad (3.5)$$

Remark 3.1. In [7, p. 943] and [9], the following formulae were given respectively:

$$(1 + 2^{2k})(1 - 2^{2k-1})B_{2k} = \sum_{j=0}^k \binom{2k}{2j} B_{2j} E_{2k-2j}, \quad (3.6)$$

$$(2 - 2^{2k})B_{2k} = \sum_{j=0}^k \binom{2k}{2j} 2^{2j} B_{2j} E_{2k-2j}. \quad (3.7)$$

Replacing k by $2k$ in (3.5), we have

Corollary 3.1.3. *For nonnegative integer k , we have*

$$\sum_{j=0}^{2k} \binom{2k}{j} 2^{2j-1} (3^{2k-j} - 1) B_j = 0. \quad (3.8)$$

Taking $r = 2$ in (3.1) leads to the following

Corollary 3.1.4. *For positive integer k and positive numbers a, b, c , we have*

$$\begin{aligned} & k \sum_{j=0}^{k-1} \binom{k-1}{j} (\ln c)^{k-j-1} E_j(a, b, c) \\ &= \sum_{j=0}^k \binom{k}{j} 2^{k+j-1} [(\ln b + \ln c)^{k-j} - (\ln a + \ln c)^{k-j}] B_j(a, b). \end{aligned} \quad (3.9)$$

Taking $a = 1$ and $b = c = e$ in (3.9) yields

Corollary 3.1.5. *For positive integer k , we have*

$$k \sum_{j=0}^{k-1} \binom{k-1}{j} E_j = 2^{k-1} \sum_{j=0}^k \binom{k}{j} (2^k - 2^j) B_j. \quad (3.10)$$

Remark 3.2. The result in (3.10) is equivalent to Lemma 2 in [5, p. 6].

Setting $a = 1$ and $b = c = e$ in (3.1) gives us

Corollary 3.1.6. *Let $r \in \mathbb{R}$, then we have*

$$k \sum_{j=0}^{k-1} \binom{k-1}{j} (r-1)^{k-j-1} E_j = \sum_{j=0}^k \binom{k}{j} 2^{2j-1} [(2+r)^{k-j} - r^{k-j}] B_j. \quad (3.11)$$

Theorem 3.2. For positive numbers a, b, c and nonnegative integer k , we have

$$\begin{aligned} \sum_{j=0}^k \binom{k}{j} B_j(a, b) E_{k-j}(a, b, c) \\ = \sum_{j=0}^k \binom{k}{j} 2^{2j-1} [(\ln b + \ln c)^{k-j} + (\ln a + \ln c)^{k-j}] B_j(a, b). \end{aligned} \quad (3.12)$$

Proof. By (2.5), Cauchy multiplication, and the power series identity theorem, we have

$$\begin{aligned} \frac{2tc^t}{(b^t - a^t)(b^{2t} + a^{2t})} &= \frac{2t}{b^{4t} - a^{4t}} [(bc)^t + (ac)^t] \\ &= \left[\sum_{k=0}^{\infty} 2^{2k-1} B_k(a, b) \frac{t^k}{k!} \right] \left[\sum_{k=0}^{\infty} [(\ln(bc))^k + (\ln(ac))^k] \frac{t^k}{k!} \right] \\ &= \sum_{k=0}^{\infty} \left[\sum_{j=0}^k \binom{k}{j} 2^{2j-1} [(\ln b + \ln c)^{k-j} - (\ln a + \ln c)^{k-j}] B_j(a, b) \right] \frac{t^k}{k!}. \end{aligned} \quad (3.13)$$

By (2.6), Cauchy multiplication, and the power series identity theorem, we have

$$\begin{aligned} \frac{2tc^t}{(b^t - a^t)(b^{2t} + a^{2t})} \\ = \left[\sum_{k=0}^{\infty} B_k(a, b) \frac{t^{k+1}}{k!} \right] \left[\sum_{k=0}^{\infty} E_k(a, b, c) \frac{t^k}{k!} \right] \\ = \sum_{k=0}^{\infty} \left[\sum_{j=0}^k \binom{k}{j} B_j(a, b) E_{k-j}(a, b, c) \right] \frac{t^k}{k!}. \end{aligned} \quad (3.14)$$

Equating coefficients of $\frac{t^k}{k!}$ in (3.13) and (3.14) leads to (3.12). \square

Taking $a = 1, b = c = e$ in (3.12), we have

Corollary 3.2.1. For nonnegative integer k , we have

$$\sum_{j=0}^k \binom{k}{j} B_j E_{k-j} = \sum_{j=0}^k \binom{k}{j} (2^{k+j-1} + 2^{2j-1}) B_j. \quad (3.15)$$

4. RELATIONS BETWEEN GENERALIZED BERNOULLI AND EULER POLYNOMIALS

In this section, we will discuss some relationships between the generalized Bernoulli polynomials and the generalized Euler polynomials.

Theorem 4.1. For positive numbers a, b, c , nonnegative integer k , and $x \in \mathbb{R}$, we have

$$kE_{k-1}(x; a, b, c) = \sum_{j=0}^k \binom{k}{j} 2^j [(\ln b)^{k-j} - (\ln a)^{k-j}] B_j \left(\frac{x}{2}; a, b, c \right). \quad (4.1)$$

Proof. By (2.7), Cauchy multiplication, and the power series identity theorem, we have

$$\begin{aligned} \frac{2tc^{xt}}{b^t + a^t} &= \frac{2tc^{xt}(b^t - a^t)}{b^{2t} - a^{2t}} \\ &= \left[\sum_{k=0}^{\infty} \left[2^k B_k \left(\frac{x}{2}; a, b, c \right) \right] \frac{t^k}{k!} \right] \left[\sum_{k=0}^{\infty} [(\ln b)^k - (\ln a)^k] \frac{t^k}{k!} \right] \\ &= \sum_{k=0}^{\infty} \left[\sum_{j=0}^k \binom{k}{j} 2^j [(\ln b)^{k-j} - (\ln a)^{k-j}] B_j \left(\frac{x}{2}; a, b, c \right) \right] \frac{t^k}{k!}. \end{aligned} \quad (4.2)$$

By (2.8), Cauchy multiplication, and the power series identity theorem, we have

$$\frac{2tc^{xt}}{b^t + a^t} = t \sum_{k=0}^{\infty} \frac{t^k}{k!} E_k(x; a, b, c) = \sum_{k=0}^{\infty} \left[k E_{k-1}(x; a, b, c) \right] \frac{t^k}{k!}. \quad (4.3)$$

Equating coefficients of $\frac{t^k}{k!}$ in (4.2) and (4.3) leads to (4.1). \square

Letting $a = 1$ and $b = c = e$ in (4.1) and defining $0^0 = 1$, we have

Corollary 4.1.1. For $k \in \mathbb{N}$ and $x \in \mathbb{R}$, we have

$$kE_{k-1}(x) = \sum_{j=0}^{k-1} \binom{k}{j} 2^j B_j \left(\frac{x}{2} \right). \quad (4.4)$$

From (2.3), Cauchy multiplication, and the power series identity theorem, it follows that

Corollary 4.1.2. For $k \in \mathbb{N}$ and $x \in \mathbb{R}$, we have

$$2^k \left[B_k \left(\frac{x+1}{2} \right) - B_k \left(\frac{x}{2} \right) \right] = \sum_{j=0}^{k-1} \binom{k}{j} 2^j B_j \left(\frac{x}{2} \right). \quad (4.5)$$

Combining (4.4) with (4.5), we have

Corollary 4.1.3. For $k \in \mathbb{N}$ and $x \in \mathbb{R}$, we have

$$kE_{k-1}(x) = 2^k \left[B_k \left(\frac{x+1}{2} \right) - B_k \left(\frac{x}{2} \right) \right]. \quad (4.6)$$

Remark 4.1. The formula (4.6) is the same as Lemma 3 in [5, p. 6].

Using (2.7), (2.8), Cauchy multiplication, and the power series identity theorem, we obtain

Theorem 4.2. For positive numbers a, b, c , nonnegative integer k , and $x \in \mathbb{R}$,

$$2^k B_k(x; a, b, c) = \sum_{j=0}^k \binom{k}{j} B_j(x; a, b, c) E_{k-j}(x; a, b, c). \quad (4.7)$$

Taking $a = 1$ and $b = c = e$ in (4.7), we have

Corollary 4.2.1. Let $x \in \mathbb{R}$ and k be nonnegative integer, then

$$2^k B_k(x) = \sum_{j=0}^k \binom{k}{j} B_j(x) E_{k-j}(x). \quad (4.8)$$

Theorem 4.3. For positive numbers a, b, c , nonnegative integer k , and $x \in \mathbb{R}$, we have

$$kE_{k-1}(x; a, b, c) = 2B_k(x; a, b, c) - 2 \sum_{j=0}^k \binom{k}{j} 2^j (\ln a)^{k-j} B_j\left(\frac{x}{2}; a, b, c\right). \quad (4.9)$$

Proof. By (2.7), Cauchy multiplication, and the power series identity theorem, we obtain

$$\begin{aligned} \frac{2tc^{xt}}{b^t + a^t} &= \frac{2tc^{xt}}{b^t - a^t} - \frac{4tc^{xt}a^t}{b^{2t} - a^{2t}} \\ &= 2 \sum_{k=0}^{\infty} \frac{t^k}{k!} B_k(x; a, b, c) - 2 \left\{ \sum_{k=0}^{\infty} \left[2^k B_k\left(\frac{x}{2}; a, b, c\right) \right] \frac{t^k}{k!} \right\} \left\{ \sum_{k=0}^{\infty} \frac{t^k}{k!} (\ln a)^k \right\} \\ &= \sum_{k=0}^{\infty} \left[2B_k(x; a, b, c) - 2 \sum_{j=0}^k \binom{k}{j} 2^j (\ln a)^{k-j} B_j\left(\frac{x}{2}; a, b, c\right) \right] \frac{t^k}{k!} \end{aligned} \quad (4.10)$$

By (2.8), Cauchy multiplication, and the power series identity theorem, we have

$$\frac{2tc^{xt}}{b^t + a^t} = t \sum_{k=0}^{\infty} \frac{t^k}{k!} E_k(x; a, b, c) = \sum_{k=0}^{\infty} \left[kE_{k-1}(x; a, b, c) \right] \frac{t^k}{k!} \quad (4.11)$$

Equating coefficients of $\frac{t^k}{k!}$ in (4.10) and (4.11) leads to (4.9). \square

If having $a = 1$ and $b = c = e$ in (4.9), then

Corollary 4.3.1. For $k \in \mathbb{N}$ and $x \in \mathbb{R}$, we have

$$kE_{k-1} = 2 \left[B_k(x) - 2^k B_k\left(\frac{x}{2}\right) \right]. \quad (4.12)$$

Remark 4.2. The formula (4.12) is the same as that in [10, p. 48].

REFERENCES

- [1] M. Abramowitz and I. A. Stegun (Eds), *Handbook of Mathematical Functions with Formulas, Graphs, and Mathematical Tables*, National Bureau of Standards, Applied Mathematics Series 55, 4th printing, Washington, 1965.
- [2] B.-N. Guo and F. Qi, *Generalisation of Bernoulli polynomials*, Internat. J. Math. Ed. Sci. Tech. **33** (2002), no. 3, in press. RGMIA Res. Rep. Coll. **4** (2001), no. 4, Art. 10, 691–695. Available online at <http://rgmia.vu.edu.au/v4n4.html>.
- [3] Q.-M. Luo, B.-N. Guo, and F. Qi, *Generalizations of Bernoulli's numbers and polynomials*, RGMIA Res. Rep. Coll. **5** (2002), no. 2. Available online at <http://rgmia.vu.edu.au/v5n2.html>.
- [4] Q.-M. Luo and F. Qi, *Generalizations of Euler numbers and polynomials*, RGMIA Res. Rep. Coll. **5** (2002), no. 3. Available online at <http://rgmia.vu.edu.au/v5n3.html>.
- [5] G.-D. Liu, *Generalized Euler and Bernoulli polynomials of n -th order*, Shùxué de Shíjiàn yù Rènshī (Math. Practice Theory) **29** (1999), no. 3, 5–10. (Chinese)
- [6] G.-D. Liu, *Recursing sequences and multiple Euler and Bernoulli polynomials of higher order*, Numer. Math. J. Chinese Univ. **22** (2000), no. 1, 70–74. (Chinese)
- [7] G.-D. Liu, *Generalized central factorial numbers and Nörlund Euler and Bernoulli polynomials*, Acta Math. Sinica **44** (2001), no. 5, 933–946. (Chinese)
- [8] N. E. Nörlund, *Differentenzenrechnung*, Springer-Verlag, 1924.
- [9] M. V. Vassilev, *Relations between Bernoulli numbers and Euler numbers*, Bull. Number Related Topics **11** (1987), no. 1-3, 93–95.
- [10] Zh.-X. Wang and D.-R. Guo, *Tèshū Hánshù Gàilùn (Introduction to Special Function)*, The Series of Advanced Physics of Peking University, Peking University Press, Beijing, China, 2000. (Chinese)
- [11] W.-P. Zhang, *Some identities involving the Euler and the central factorial numbers*, The Fibonacci Quarterly **36** (1998), no. 2, 154–157.

(Luo) DEPARTMENT OF BROADCAST-TELEVISION-TEACHING, JIAOZUO UNIVERSITY, JIAOZUO CITY, HENAN 454002, CHINA

(Qi) DEPARTMENT OF APPLIED MATHEMATICS AND INFORMATICS, JIAOZUO INSTITUTE OF TECHNOLOGY, JIAOZUO CITY, HENAN 454000, CHINA

E-mail address: qifeng@jz.it.edu.cn or qifeng618@hotmail.com

URL: <http://rgmia.vu.edu.au/qi.html>